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fasm (Science)—(033)

AT : 3 HUC quTich : 80
Time : 3 hours Maximum Marks : 80
BEY (Directions)-

VL.

9 U5 ¥ gel 30 U ¢ | 91 e S1fvard § |

There are in all 30 questlons in this quest|on paper. All questions are compulsory.

ueHr B FEiRa ofe S T sifdd & |

Marks allotted to the questions are mentioned against them.

UG U DI SFYdD Uied a2 Ffed Ser fafory |

Read each question carefully and answer to the point.

UT AT 1 dgAhedl Y B 39 U B U WUE B SR ¥ IR fddpey
T 21 Ael fAhed Ul SaR gRaer H foray | usd @wam 2 9 o9 da fAf¥eEd
IR U B |

Question No. 1 is multiple choice question. Four options are given in answer of each part of this
question. Write correct option in your answer book. Question No. 2 to 9 are definite answer type
guestions.

U T 1 Dl YD WUS U 3 Pl © | UL WRAT 2 ¥ 9 db U 3 & UeA
g | U AT 10 ¥ 15 T 2 (b D UL 7 | U AT 16 H 23 T 3 B D U
€| U T 24 W 30 9P IR 3P D U & |

Each part of question No. 1 carries one mark. Question No. 2 to9 are of one mark each. Question
No. 10 to 15 are of two marks each. Question No. 16 to 23 are of three marks each. Question No.
24 to 30 are of four marks each.

S UeI-UF W AT R B3 APy F8l 7 aUy wfaug gl # enaRd [Awe
U T AT 2 | U Ul § ¥ ddel Udh [ddhed Pl &l IR aIfory |

There is no overall choice in this question paper, however, an internal choice has been provided
in few questions. Attempt only one of the given choices in such questions.

39 U @ gD WUS P SaRk A IR Aoy fad MU 2| WEl by ol IR

qReeT H oIy | 1x8=8
Four options are given in each part of this question. Write the correct answer in your note
book.

() VST H bre URAVRI & Heg HEHAIGIP MMl ol HAT B

(i) TP (ii) <=

(iii) &7 (iv) R~

The number of covalent bonds between carbon atoms in ethane is-
(i) Single (ii) Triple

(iii) Double (iv) Four
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(@) @ W@ g gdel W foEe ol 87

(i) «rfsTH (i) o
(iii) EEETINRIE (iv) KIPpL!
Which metal melts on the palm?
(i) Sodium (i) Cesium
(iii) Magnesium (iv) Lithium
CHTA BTHIA DECAI §—
(i) foegeTs (ii) USITelI
(i) ATIRTFRAT (iv) 3=gfer
..................... is called emergency hormone —
(i) Pituitary (i) Adrenaline
(iii) Thyroxine (iv) Insuline
WoT T ol U d SRl el Blal 87
ODESIBINES (ii) &&=
(iii) JB<TH (iv) IRd
Digestion and absorption of most of the food takes place in-
(i) Stomach (i) Small intestine
(iii) Large intestine (iv) Liver
iR g @ gd U4 HXT BIhd @& 41 Bl gul deedl &
(i) Tl D= DIEESIRER
(iii) T G (iv) H&T 31eT
The distance between the pole and the principal focus of a spherical mirror is called-
(i) Center of curvature (ii) Radius of curvature
(iii) Focal distance (iv) Principal axis

T Al Bl AR W W UG @ [y ued wedl B T W 25 ¥ F |
G IS B | 98 OIS 8- |

() o1 gRe qIY (ii) FrferaTeTs

(iii) @ giealy (iv) ) gfc QY

A person has to keep the reading material at a distance of more than 25 cm from the eyes to
read clearly. He is suffering from -

(i) Presbyopia (i) Cataract

(iii) Myopia (iv) Hypermyopia
diee fdaT A=d 87

(i) T (i) favaT=aR

(ili) 3T (iv) BT

Volt is the unit of which physical quantity? »

(i) Current (ii) Potential difference
(iii) Charge (iv) Work
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() A far war R wiRds @ fafe ol we’l @ qeifar g |

The diagram given below shows the different trophic levels.

level 3

/ level 2 \
/T e\

o & B 91 U W) SdEd Bl yafdid wRar &7

(i) &Y 1 (if) WX 2
(iii) X 3 (iv) =X 4
Which level shows the producers-

(i) Level1 (i) Level 2
(iii) Level 3 (iv) Level 4

P e Hier RreHs B ad o)l © | 55 Ao 9 yepfy @ gni?

A solution turns blue litmus red. What will be the nature of this solution?

didet & IR 3fagdl © AT qaisy |

Name the main components of brass.

QY agell @ A gATSY Sl Wepi H gad srave H Ol S ® |

Name two metals which are found in free state in nature.

AN IR P FI9 gl faary el a1 A forfiy |

Write the name of the largest endocrine gland of our body.

I <G BT M 9aTsy Sl o w1 e a2 srafdd ufafes a9 9 |

Name the mirror which can form erect and magnified image of the object.

. U% solaed IR fhamT 1maer Bl &7

What is the magnitude of the charge of a single electron?

fergge e @ WY fA IF gIRT B Sl 87

By which instrument is electric current measured?

RfFoRex ¥ g fHd S arel 3 Aeeifid R b1 T forRay |

What is the name of artificially synthesized chemical used in a refrigerator?

0. FrfoRad & serag™ favg dwaeT @1 8fi?
(i) HoS XA dTell eigglvid Hebles (i) Ny ARl dlgglold 3]
What will be the electron dot structure of the following?

(i) Hydrogen Sulphide with formula HyS (ii) Nitrogen molecule with formula N»
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11.

12.

13.

14.

15.

16.

17.

SHIEH! SifaRITgS a1 B 87 Sl aTeTgel & |1 Iareeur fRfdw | 2

What are amphoteric oxides? Give two examples of amphoteric oxides.

oA ToIT T+ ¥ Serevy aid ofdr iRy | 2

Differentiate between roasting and calcination.

AT Forr fawdI) # qar iR R? UAP B IR R | 2
What is the difference between autotroph and heterotroph? Give examples of each.
qeY Sddh BT A foIlRay, S— 1+1

Write the name of the plant tissue, —
(i) e # 9T ggref &1 g8 Hear
that transports food material in plants.

(i) 9l H STl T ST 9l BT 98T eer |

that transports water and minerals in plants.

(i) oI\T T eTAdT T g qAqT |5 foray | 1+1
Write the formula and unit of power of a lens.

(i) U 3rqcTer U Bl BIbd 0 25 A € | 59 o BT eTaT @y B

The focal length of a concave lens is 25 cm. What will be the power of this lens?

AT BT & 19 (Pael 9IS AHIBRor frRay)— 1+1+1

What happens when (write only chemical equation)-

(i) faRST ol T SR ofel W fFaT oxaT 2|

Bleaching powder is treated with dilute hydrochloric acid.

(i) AISTH BIZSIST BEE B T4 AT oer 2|
Sodium hydrogen carbonate is heated.

(iii) QAT DI s TRIRT fFel B IS 443 K TGN YR T fbar 7y & |
Ethenol is heated with concentrated sulphuric acid upto 443 K.

3rerqi/or
FHIHROT Fferd fefore—
Write balanced chemical equations-
(i) Al+CuCl, — AICl; + Cu
(i) NaOH + H,SO, —> Na,S0, + H,0
(i) Na + O, — .Na,0

PIRUT ddTgU— 1+1+1

Give reasons-

() ST, | qoT ATl BT STERT SO g F T S 2
Platinum, gold and silver are used to make jewellery. =

(i) AETH Bl HeT & qeT # garpR @ S B |

Sodium is kept immersed in kerosene oil.

4
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(i) STd g BT BId BT HIUR Aobe faerad § STal oram & af fJeras &1 77 &0
8 Gl 2 |

When iron nail is dipped in copper sulphate solution, the color of the solution becomes
green.

18. Fr=farfRaa ol & SN SIfoTe— 2+1

(i) STEY TRRTERYT 3 3T T AHE 27

What do you mean by double circulation?
- C
(if) HIFT Ydd o iU ST dTef *dd< dUld bl ATH IECI
Name the respiratory pigment found in human blood.

19. {4 GG T BT W< A I91g0 aAT SAH FEifhd aRT Bl g9igu— 3

20.

214

Draw a neat diagram of the human respiratory system and label the following parts in it-

(i) =d BTy (Trachea) (ii) Eﬁc\laﬁﬁl (Alveoli) (iii) RUYHN (Lungs)
3rrd1/oR
q9d AT dF BT oo TA¥ifhd fF 918y ar S99 9 91 &l guligu—

Draw a neat diagram of the human endocrine system and label the following parts in it.

(i) éﬁ?ms@ ‘Tf?\/f(Thyroid gland) (i) JYUT (Testis) (iii) 3MTATY (Pancreas)
(i) fagga Ifd | @ar T 857 142

What is meant by electrical power?

A(n)zosﬂqqﬁﬁaaﬁwﬁﬁgﬁm5.0Aﬁa§HWﬁ%l3o ADhe H I

ST BT UREAA fhfoTT |

An electric iron of resistance 20 Ohms draws an electric current of 5.0 A. Calculate the heat
produced in 30 seconds.

faeifsa uRuer & st fhfore— 2+1

Find out in the following circuit-

(i) gfRuer &1 Eael PIRRIIS (Total resistance of the circuit)
(ii) gRuer ¥ yarfad fel YIRT (Total current flowing in the circuit.)

3reraT/oR
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22,

23.

24.

23,

fAeferiRaa & 9 f=E1 <1 @ Wey & gHsisu— 1/ 41"/,
Explain briefly any two of the following.

u—eméﬁ ORI a7 o gRT § 3R (Difference between alternating and direct current)
(ii) ’Eﬁq gRRuer # WS dl Hecd | (Importance of fuse in domestlc circuit)

(iii) laaga gD (Electromagnet)

U faqaredl o f& sifom ufed # 987 8, &1 wmue yed A foaE Bk 21 I8
frd gpR @1 3ftc QY B2 39D S B @ qT R RV | g 3@ gRi
AHSSY | $HBT FRIBROT & fhar S Aebar 27 LR

A student has difficulty in reading the black board while sitting in the last row. Which type of
refractive defect of the eye is it? Write two reasons for its occurrence. Explain with the help of a
linear diagram. How can this be solved by glasses?

FrTfhd g9l @ Sk SIfoTu— 241
(i) 3T TSI H Sifaeh derr i wav @ THET R B B AN Y qaT—a
SUTY HY?

What measures will you have to solve the problem of organic and non-organic waste in your
neighbourhood?

(i) Toe fafxor 1 SIS oRa gedt @ gremm vl 87

By which radiation of sun the ozone layer protects the Earth?

(i) SATFeT USSR @1 A M qer o forRkau | 1
Write the chemical name and formula of bleaching powder.

(i) POR STel DI Jg PR B oIy forsy e A &1 YA fpar o 82 1

Which Sodium compound is used for softening hard water?

(iii) 9T ATST B <7 SUAN TIRgy | 1
Write two uses of baking soda.
(iv) WIReR 3% UNT B ST 9 AfAfHar &1 F¥iaor RIkav | 1
Write the reaction of plaster of peris with water.
372d1/oR
(i) 3T BT STl et Ay &1 el T Pear 87 1

Why does aqueous solution of acid conduct eIectnaty?

(i) SeTD oA oMy frae WaIHd quagal & RET o) oy §? URe @
fRrror BT | 2

How many structural isomers can you draw for butane? Draw each.

(iii) TPRAY 3TFel T T BRI T el Dl STl § AT OIeT &, A7 b e F il |
17 1
While diluting an acid, it is recommended that the acid should be added to water and not
water to the acid. Why?

ST STRATDRT AT YIS T AR Are—arer a1t & o 99 RefRg apemr
STy AfAfhar waa g1 fod) waafre affrar § g ueref @
3T BT & 9 SIRNBRD bad & Sdfd ford gered o7 sifRiexor gar & 59
ATIATAD T & | VP febarsperd fom arer S # 1g BfR ewe @1 T fpa
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m%‘aﬁuﬁmﬁ@aﬂ%ﬁm%ﬂwmzﬁsﬂwwﬁwwwuw’zﬁ

IR feforw | 1+1-+H1+1
The oxidation and reduction reactions always occur simultaneously, such class of chemical
reaction is named as the redox reaction or Oxidation-Reduction reaction. The substance getting
reduced in a chemical reaction is known as the oxidizing agent, while a substance that is getting
oxidize is known as reducing agent. The activity in which 1g copper powder is taken in a china
dish and then heated helps in understanding redox reactions. Answer the following questions on
the basis of given activity.

Wire gaure
Tripod slargd
Burner

i) R T@eR srdelie B & a1 BRI Ofd BIoR ISR B =rgaT foor # ™
fpar STRIRTT?
Observe the given figure and write what happens when copper powder is heated in a china
dish.

(i) SIRIET (i) Fre R @ Aiffifhar 87 o Sk @l e Ty |
Which type of reaction is (i) above? Explain your answer.

(iii) T ENTT OTd SeUIE UR He < YaTfed Pl oIl &7
What happened when hydrogen gas is passed over heated material?

(iv) SIRIERAT (i) BT XrATAfIS AHIDROT AT |

Write the chemical equation of reaction (iii) above.

26. (i) aaegcgaiéHcazﬁq‘T@r(TT)WW@;@@%W?&@Q(m)EﬁW@IW
ST & T F1 GG Dol o Y R <9 &1 gud AW JEvil 31 an g 87

SILEREEIEN 141
If a pure tall pea plant (TT) is crossed with a pure dwarf pea plant (tt), then in F1 generation
only tall plants appear. What happens to the traits of the dwarf plants? Describe with figure.

(ii) SR &7 T® [P PEl Sirar 87 1
Who is known-as the father of heredity?

(ifi) DNA BT T 1M fafgg| 1
Werite the full name of DNA.

27. favga fewoll faRau (Notes, in detail) — 242
(i) g3gUSH (Binary fission) (i) DI ¥p gIEH (Vegetative propagation)
3rrar/or

i) Free @ 27 arey e 9 eraRe e A SR 9dTsT | 2
What is fertilization? Differentiate between external and internal fertilization.

(i) T PRI @ B & et 9dsv | 2

Write down any two methods of contraception.

7
Downloaded from cclchapter.com



28, (i)@lﬁﬁﬁﬁﬁ%‘??ﬂfmﬂmm%w| 2

What are stomata? Draw a labeled diagram of stomata.

(i) TSl BTN @l 87 1
What are Phyto-hormones?
(iv)wwffﬁﬁmm@?waﬁm%? 1

Where the bile is stored in human body?

29.W2WWW1OWW@$WW$§@QH$WW§I
ﬁwaﬁ?ﬁw@?ﬁ%‘luﬁ@ﬁaﬁm@ﬁﬁuﬁmﬁwmmml 4
A 2 cm long object is placed perpendicular to the principal axis of a convex lens of focal length 10
cm.The distance of the image is 15 cm. Find the nature, position, size and magnification of the

image.
Jr2rai/or
(i) Tt @ araace & e forfEy | )
State the laws of refraction.
(n)%ﬁaﬂﬂﬁawaﬁmﬁﬁaﬁaﬁ&ﬂwwﬁﬁm%‘? 2

Why does the sky appear dark instead of blue to an astronaut?

30. (i)sﬁ?@?ﬁﬂﬁwaﬁﬂmﬁ%ﬂzﬁdwqqﬁﬂlgﬁumaﬂm%‘lsﬂamw
ARG gof @1 fwm @ar grir? 1

An electron enters a magnetic field at the right to it as shown in fig. What will be the direction
of force acting on it?

—

L Magnetic
~ field

v
Electron

(ii) 12vﬁﬁw$aﬁﬁ?§3ﬁzﬁéﬁzc3ﬂaﬂaﬁﬁaﬁﬁﬁﬁmaﬂﬁmm
27 2
How much work is done in moving a charge of 2C across two points having a potential
difference 12 V.

(m)agqaﬂzﬁwwa%ﬂmﬁm_wwﬁaﬁﬂgﬁ?ﬂ%? 1

What happened to the value of electric current at the time of short circuit?

sk kkk
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